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Chapter 9 Review Date Block

Use the figure to choose the correct term to complete each statement.
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CB is (a secant of) tangent o) OX. »
DFisa (radius:\__c_{mrd) of ©X. oA

ADEF is -(f.'_ri.s'cribez in) circumscribed about) OX.
ZDEF is a(n) (central|inscribed) angle of OX. _

- e N K
£DFC is (equal to, 'I‘._f.'a_b’ i}‘)ithe intercepted arc DF. .

Skills and Concepts

A tangent is a line, ray or segment that intersects a circle in exactly one point, called the - !
point of tangency. Two segments tangent to a circle from a point outside the circle are

congruent. If a line is tangent to a circle, then the line is perpendicular to the radius ]

drawn to the point of tangency. The converse is also true.
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A polygon is inscribed in a circle if all of the vertices lie on the circle. When a polygon is e '
circumscribed about a circle, each side is tangent to the circle.

Each polygon circumscribes a circle. Find the perimeter (add all sides) of the polygon.
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Segments with endpoints on a circle are called chords. Within a circle or in congruent

circles:
e congruent central angles have congruent chords R Y
< ! . F L) d
o congruent chords have congruent arcs / | / 7 S i —
| { ‘ o LoTds
e congruent arcs have congruent central angles ! ] Tvia y
o chords equidistant from the center are congruent / i
e iis
e congruent chords are equidistant from the center
A diameter that is perpendicular to a chord bisects the chord and it arcs.
Find the value of x.
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An angle is an inscribed angle if the vertex is on a circle and the sides of the angle are
chords of the circle. Its intercepted arc is the arc whose endpoints are on the sides of the
angle and whose remaining points lie in the interior of the angle.

The measure of an inscribed angle is half the measure of its intercepted arc. The measure
of an angle formed by a tangent and a chord that intersect on a circle is half the measure of
the intercepted arc.

Find the value of each variable.
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A secant is a line, ray, or segment that intersects a circle at two points.
The measure of an angle formed by two chords that intersect in a circle is ' .
half the sum of the intercepted arcs. :
The measure of an angle formed by two secants, two tangents, or a secant
and a tangent drawn from a point outside the circle is half the difference of ' ' & =
the measures of the intercepted arcs.
Find the value of each variable.
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Find the measures of angles 1-10. Complete the table below.
Angle | Type of Angle Equation Answer e e 4
P ] '\ 6 ';-m
mZl | WScee | W2 (22) e \ s1s” 7\
ms2 [oy TS V2(iz8-32) 48" \ / 1/
ms3 | iNSemeso | Yz (ew) 3 2" S SN
m/4 | eantiGs 2 (izesx32) | o N\~ /| .
mAS | NS ERET Yz (L4 ) ] >2 A J/z ’
m/6 [cutCiE Yz (2 ‘e ‘) (SO pd \ / T
ms7 | EiennsGs 2036 te) | (oo A 32 A
mZ8 | (e SLZARESA Mz (28) (o k{ o _El\
mZ£9 | 2 (v 92) 1= e
mZ10 \7 12 (128) G 136°

vl

=
L

e



_DATE ___ ___ SCORE __

NAME o B .
CifCles I-For- ;s_e after Chapt;;s;_!
EH is angent to ©O0. Complcle

1. mLOHI = “\O

2. 1f mCH = 130, then mZCHI = _C_’i .

3. 1t mEF = 120, then mLCEH = 29 )

4. If mCF = 80 and mDG = 20, then mLFEC = ‘—’L .

In©FL mlFPG = 75. Complete, .

5. mEG = 753 6. mEGF = “‘ (“

7. mGE = _{O¢7 8. mEFG = _2’25

OO, 0J L HI and OK = 3. Complete.
9. If HJ = 8, then HK = _ X _.

10. If KJ =2, then LJ = ___L°

11. If mHI = 70, then mHJ = _5_(5 g -

J Exs. 9-11
Chords, secants, and tangents are shown. Find the indicated values.
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Given: ©0, mAD=54", mBC=62°, mDE=36°, mFH=22",

mEF=78°

Determine the missing angles. It will be helpful to indicate the
type of angle (central, inscribed, floating, outside). Be sure you
are using the correct formulas!
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